N H

trasformer

section D

section B-B

NOTE 1 - The horizontal accelerometer
body is built in 5 steps

STEP 1 - mechanics DwWG 1
STEP 2 - pre-cut EDM DWG 2
STEP 3 - electro-polish holes

STEP 4 - final cuts EDM DWG 4
STEP 5 - release + delivery DWG 5-6-7

NOTE 2 - Copper-beryl | ium
Material characteristic: C 17200 cube 2
alloy 25, HV 380-420, N/mm2 1200-1500.

98% coppers 1.8% beryl|ium, 0.2% cobalt

rot. rate o simature

modifications

17 spacer
16 electrode
15 ring spocer 31 justnent plate
14 ring spring 30 lacking screw top
13 slectronic card 29 Secur ity fronspart
12 claming scren 28 support ooi |
1" support electrode 25 screw’s spacer
10 inner_electrode 23 coil
) Fixing imer electrode| | 22 magnet
2-1 tommy_head M3x12 8 2 [frequency tuning weight| | 21 support_magnet
111 flat fillister head M3x10 16 1 body 18 reverse rotation
21 Flor T11 1 ister heod M3xe e ror. | aron ataed 1ooena cor. | aron e 1easna
28-23 | flat head M3x12 4 e
= R.De Salvo
28-1 | flot heod M3x12 8 Newport—fine adjustment screws AJS-05H n°3 pieces £}@| LIGO PROJECT [7==
10-9 flat fillister head M3x25 4 G. Gennaro-PROMEC
= e
39111 ZLS;Z:&T:L M5x12 185 rine 121208
Jetail Type ~piec. HAM—-OPTICAL BENCH |L160-D050110-01-D
Screw's fable H-ACCELEROMETER RS A
I
1 [ 1 1T 1 8 g 10




